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Sub -English 
1. Mention the three questions that occurred to the king. 
2.Why did the king go to the wise hermit? Why did he go there alone and dressed like a Commoner? 
3.Who was the bearded man who came running from the woods? How had he got wounded? 
4.How did digging of beds for the hermit save the king’s life? 
Sub- Maths  
1.Is 2352 a perfect square? If not, find the smallest no. by which 2352 be multiplied so that it become a  
perfect square. Find the square root of the new number.  
2. Find the smallest number by which 9408 must be divided so that it becomes a perfect square. Also, 
find the square root of the number so obtained.  
3. Neha purchased 2361 rose plants for her garden. How many more rose plants should  neha buy from 
the Nursery so that the number of rows is equal to the number of rose  plants in each row?   
4.Find the square root of 3 up to 3 decimal places. 
5.Find the square root of 3 up to 3 decimal places. 
Subject - Science  
1. Draw a diagram of plant cell and label the following parts -  
A) Cell wall 
B) Cell Membrane 
C) Nucleus 
D) Chloroplast 
E) Vacuole 
2. Draw a diagram of animal cell and label the following parts - 
 A) Cell Membrane 
B) Endoplasmic Reticulum 
C) Golgi Complex 
D) Mitochondria  

 विषय-  ह िंदी  
निम्िलिखित प्रश्िों के उत्तर अपिी अनु पुस्तिका पर 40 से 50 शब्दों में लिखो। 

प्रश्ि 1. पक्षियों के क्या अरमाि है? 

प्रश्न 2.  में ककसी की तिििंत्रिा क्यों न ीिं छीननी चाह ए? 

प्रश्न 3. दारा को उत्तरी ईरान का गिननर क्यों बनाया गया? 

Subject - Social science  
Q1. Why are human needs neither uniform nor static all over the world? 
Q2. Utility and value of a resource varies from time to time and place to place, explain. 
Q3. On what factors does utilization of resources depends? 
Q4. What is necessary for utilization of resources? 
Sub- Punjabi  

'ਵਿਵਿਆਰਥੀ ਅਤ ੇਅਨੁਸ਼ਾਸਨ' ਵਿਸੇ ਉੱਤੇ ਲੇਖ ਵਲਖ।ੋ 


